
2

1

A

A

Step 1: Step 2:

A

B

C

Screw M6x90 (4 pcs)

Screw M6x60 (6 pcs)    

Allen Key (1 pc)

ASSEMBLY INSTRUCTION
1

1

2

A

A

B

FINISHED.

TABLE:

Step 3:

20140208-01

C
100 %



ASSEMBLY INSTRUCTION
Step 1:

Step 3:Step 2:

A

B

C

Screw M6x90 (4 pcs)

Screw M6x60 (4 pcs)    

Allen Key (1 pc)

4

FINISHED.

STOOL:

3

4

5

3

A

A

3

3

A

A

B

5

20140208-01

C
100 %



Step 1:

Step 2:

D

E

C

Screw M7x90 (2 pcs)

Screw M7x70 (6 pcs)    

Allen Key (1 pc)

F
Bolt M6x65 (2 pcs)

ASSEMBLY INSTRUCTION

5

8

7

6 6

5

Step 3:

BENCH 2:

E

E

E

F

F

E

E

E

C
100 %

9

10

X2

X2

20140208-01



ASSEMBLY INSTRUCTION

FINISHED.

Step 4:

D

D

Step 5: 9

10

20140208-01

X2

X2



Step 2:

Step 1:

D

E

C

Screw M7x90 (2 pcs)

Screw M7x70 (6 pcs)    

Allen Key (1 pc)

F
Bolt M6x65 (2 pcs)

G
Bolt M6x40 (4 pcs)

H
Bolt M6x25 (2 pcs)

J
Cap nut (2 pcs)

ASSEMBLY INSTRUCTION

Step 3:

BENCH 3:

E

E

E

F

F

E
E

E

C
100 %

9

13

13

11
1114

14

12

16
16

12

15

10

X2

X2

20140208-01



16
16

ASSEMBLY INSTRUCTION
Step 4:

Step 6:

Step 5:

20140208-01

F

F

H H

H J

15

G

G

G

G



ASSEMBLY INSTRUCTION

FINISHED.

Step 7:

20140208-01

9

10

X4

X3


